1 | 2 3 4 5 6 | 7 8 9 | 10 11 12
SPECIAL CHARACTERISTICS (10 515) REPRESENTATIVE VIEW OF FIXING POINTS WITH STUD M5 REVISION HISTORY
REPORT @ | CRITICAL © REV. DESCRIPTION NAME DATE
No. SC AREA VALUE 0 FIRST ISSUE M.LAGUARDIA 12.04.2016
01 © E12 OPERATING FEATURES
02 © E10 OPERATING FEATURES
03 © E9 CABLE FIXATION 2X 36,2+ 0.2 22 TYP - 22405 291+0,5
REPRESENTATIVE VIEW - ASSEMBLY CONFIGURATIONS
ﬂ.r;v 7 / ,
_!7_”"_//_____' [ o
[z Smpe—— N (7 S E———— i
Ll N’ |!] [“ ! —
st <
< o J g
4 S o
© s = S
S H
b
FUSE HOLDER FUSE HOLDER
MEGACOMPACT
FUSE HOLDER
SCALE 1:2
MIDIVAL FUSE HOLDER WITH ASSEMBLED COVER - OVERALL DIMENSIONS COMPLIANT WITH ISO 8820-5:2015 SF30 INSTALLATION
2 x M5 MAXIMUM HAND TOOL
REMOVABLE WALL—\ CLEARANCE ADMITTED @ 13,5
C D Ysssre,
V _\ — T I . 'I‘
i gz === N
g © 2 N \ T [ | ‘ R I!!:'. Tf-‘
: i g I | -H ﬂ@ ‘
= | | 10
H | ] 2 x M5 MAXIMUM HAND TOOL
7| 2 CLEARANCE ADMITTED @ 13,5
[T} Q
3 <3 /L &
o 23 ]
IS g SECTION A-A % ] OPERATING FEATURES
ol s - USE TIE WRAPS / CLAMPS: HARNESS SHOULD BE SECURED FROM ANY MOVEMENT ONCE THE FUSE HOLDER IS INSTALLED
= _ (FOR BOTH INPUT AND OUTPUT CABLES). FEATURES UNIT VALUE
) _ DETAIL D(2:1)
R DETAIL C(2:1) V MAX Vv 32
©
= 150 max © 150 max@ | MAX A SEE ADDITIONAL NOTE (1)
TEMPERATURE RANGE °C SEE ADDITIONAL NOTE (2)
% -0 A v 2! VIBRATION CLASS - SEE ADDITIONAL NOTE (3)
/ \</ IP IEC 529 20
‘ ) SN UL 94 HB
- 4 FLAMMABILITY
\ | / ) A )= A FMVSS 302 <= 100 mm/min
_ FUSE AND TERMINAL
T _\\TE WRAP / CLAMP © TIGHTENING TORQUE M5 Nm 45+1
(© | TIGHTENING TORQUE M5 FIXING POINTS Nm 3.5 +/- 10%
15405 ADDITIONAL NOTE:
1240,5 MTA M5 TERMINALS ASSOCIATED TABLE 1)ACCORDING TO FUSE DERATING CURVE DVP_1600017_rev.1(C)
- 6.5+0,3 03 POS. TERMINAL MATERIAL WIRE SECTION 2)38%TLNﬂggosc;?gEe$hAJ;{‘i‘r% IETM';En'EA;TURE RANGE:
A-B 1708240/xx CuzZn-Sn 2.5 + 4 sqmm NOT OPERATING MAX TEMPERATURE: 160°C (Short period condition)
‘ ‘ ‘ A-B 1708245/xx CuZn-Sn 6 + 8 sqmm 3)COMPONENT DESIGNED TO OPERATE ENGINE COMPARTMENT
= A-B 1705606/xx Cu-Sn 2.5 + 4 sgmm (WHEELED VEHICLES)
—— 4)NOT COMPLIANT TO CORROSIVE INDUSTRIAL ATMOSPHERE
! : A-B 1705705/xx Cu-Sn 6 + 8 sgmm )
| M | J:u: A-B 1708250/xx CuZn-Sn 10 + 16 sqmm
| A-B 1705835/xx Cu-Sn 10 + 20 sgmm
| K A-B 1605905/xx Cu-Sn 25 + 35 sgmm
i 4 = | = IMPORTANT NOTE
| R 1 1 [ 1)CONSIDERING ALL POSSIBLE CONFIGURATIONS, IN ANY CASE,
9 _ ‘ . THE INSTALLER SHOULD TEST THE APPLICATION TO VERIFY THE
7/ = e PRODUCT MEETS THE CUSTOMER'S EXPECTATIONS.
DETAIL A2 2)IN CASE OF SINGLE MODULE APPLICATION THE COVER WILL BE IN
i mE PERSPECTIVE VIEW 3)IN CASE OF COMBINED OR MULTIPLE CONFIGURATIONS THE COVER
H CUSTOMER'S NEEDS (ASSEMBLED OR NOT).
A A 4)ASSOCIATED TERMINALS ARE DESCRIBED IN THE TABLE BELOW.
- 5)IN CASE OF COMBINED MULTIFUSE SEE ALSO:
MEGACOMPACT FUSE HOLDER DRAWING 0301497/xx
MEGAVAL FUSE HOLDER DRAWING 0301498/xx.
6)FOR THE CORRECT ASSEMBLY MUST BE USED SELF LOCKING NUT
M5. STUDYING THE MAXIMUM HEIGHT OF THE NUTS
ACCORDING TERMINALS HEIGHT TO GUARANTEE MINIMUM TWO
THREADS AFTER THE ASSEMBLY
7)THERE IS A POSSIBILITY THAT THE TERMINAL AREA IS EXPOSED, IT
] CAN BE COVERED BY A THERMO-SHRINKING SHEATH.
G MIDIVAL FUSE HOLDER WITHOUT COVER OVERALL DIMENSIONS MIDIVAL FUSE HOLDER COVER OVERALL DIMENSIONS REFERENCE TABLE A-B POSITION MAXIMUM TERMINAL SIZE 8)I7 IS SUGGESTED TO SCRAP THE FALLEN PIEGES.
63£0.35 21,84+0,5 10
ﬁ N
. X 3 1 |COVER PAB6-GF30 (BLACK)
0] ] A— = :
- 3 |5| 2 2 | SCREW M5 STEEL CL. 8.8 - ZnNi
) 4 ) I
| 0] 1 1 |BODY PA66-GF30 (BLACK)
POS. | Q.TY DENOMINATION MATERIAL
- o |MN  0301499/0x penom.  MIDIVAL FUSE HOLDER
MAX 6.5 | -
M5 STUD x Draw
rY-—-Y. V- < 1 601 7M'OOA Used for =
R — mﬁ | S No.
S 1 ’ Pae | Neme [Daw o) |ENT Material  SEE TABLE
H & = r= — - . Draft. [09.05.2016| M.LAGUARDIA
= : :
\\ I i ok Scale | Weight(g) | Lin.Tol.£+ [Ang.Tol.+ Coating SEE TABLE
2 I Verif. [06.12.2017| J.LATERZA 1 3 03 !
) ‘ REPRESENTATIVE —————— Color ~ SEE TABLE
30+0,15 <§E MAX5 | PERSPECTIVE VIEW PQApp|15.12.2017|  M.ROSSI Al |[E1& D':j‘e(::r:’)”s I
ASSEMBLED COVER
88.+0.4 | REPRESENTATIVE VIEW ( ) App. |15.12.2017| G.sPATARO D S BT G Note ACCORDING TO DVP 1600017_REV.1
REV All proprietary rights reserved by MTA S.p.A. - This drawing shall not be reproduced, or in any way utilized, for the manufacture of the
‘| component or unit herein illustrated and must not be released to other parties, without written consent.
1 | 2 3 4 | 5 6 | 7 8 | 9 O | Any infringiment will be legally pursued.




X-ON Electronics

Largest Supplier of Electrical and Electronic Components
Click to view similar products for Fuse Holder category:
Click to view products by MTA manufacturer:

Other Similar products are found below :

570-290-741P40 570-290-751P40 0031.1351.01 020417G 020418E 80910030 8601.2020 9-355/-GP REV A 15600-08-10 BK1-HTC-45M
BK/FHN19G BK/HIM-HH BK/HKP-CCHH BK/HKP-E-CC BK/HKP-E-HH BK/HKP-EH-HH BK/HKP-U-HH BK/HTJLES-FUSE
HMG-241 2086-1 2193 RTMF-SC 2602 2650 FHN31G1 G4PB8 2660 2799 CQ-209V 345621A 3794 4202 4408 4413 4423 4482
4532 4537 TSD1404-12 BK/FHN31G1 BK/HKP-H-CC BK/HKP-JQ-BB BK/HKP-JQW-BB BK/HKP-N-HH BK/HKP-S-CC BK/HKP-W-
BBHH BP/HHS BPHHU 55900008011 C1933



https://www.x-on.com.au/category/circuit-protection/fuse-holders/fuse-holder
https://www.x-on.com.au/manufacturer/mta
https://www.x-on.com.au/mpn/edac/570290741p40
https://www.x-on.com.au/mpn/edac/570290751p40
https://www.x-on.com.au/mpn/schurter/0031135101
https://www.x-on.com.au/mpn/es/020417g
https://www.x-on.com.au/mpn/es/020418e
https://www.x-on.com.au/mpn/eaton/80910030
https://www.x-on.com.au/mpn/schurter/86012020
https://www.x-on.com.au/mpn/keystone/93557gpreva
https://www.x-on.com.au/mpn/eaton/156000810
https://www.x-on.com.au/mpn/eaton/bk1htc45m
https://www.x-on.com.au/mpn/eaton/bkfhn19g
https://www.x-on.com.au/mpn/eaton/bkhjmhh
https://www.x-on.com.au/mpn/eaton/bkhkpcchh
https://www.x-on.com.au/mpn/eaton/bkhkpecc
https://www.x-on.com.au/mpn/eaton/bkhkpehh
https://www.x-on.com.au/mpn/eaton/bkhkpehhh
https://www.x-on.com.au/mpn/eaton/bkhkpuhh
https://www.x-on.com.au/mpn/eaton/bkhtjlesfuse
https://www.x-on.com.au/mpn/eaton/hmg241
https://www.x-on.com.au/mpn/eaton/20861
https://www.x-on.com.au/mpn/eaton/2193
https://www.x-on.com.au/mpn/eaton/rtmfsc
https://www.x-on.com.au/mpn/eaton/2602
https://www.x-on.com.au/mpn/abbatron/2650
https://www.x-on.com.au/mpn/eaton/fhn31g1
https://www.x-on.com.au/mpn/opto22/g4pb8
https://www.x-on.com.au/mpn/abbatron/2660
https://www.x-on.com.au/mpn/eaton/2799
https://www.x-on.com.au/mpn/fusetech/cq209v
https://www.x-on.com.au/mpn/littelfuse/345621a
https://www.x-on.com.au/mpn/eaton/3794
https://www.x-on.com.au/mpn/eaton/4202
https://www.x-on.com.au/mpn/eaton/4408
https://www.x-on.com.au/mpn/eaton/4413
https://www.x-on.com.au/mpn/eaton/4423
https://www.x-on.com.au/mpn/eaton/4482
https://www.x-on.com.au/mpn/eaton/4532
https://www.x-on.com.au/mpn/bourns/4537
https://www.x-on.com.au/mpn/metcal/tsd140412
https://www.x-on.com.au/mpn/eaton/bkfhn31g1
https://www.x-on.com.au/mpn/eaton/bkhkphcc
https://www.x-on.com.au/mpn/eaton/bkhkpjqbb
https://www.x-on.com.au/mpn/eaton/bkhkpjqwbb
https://www.x-on.com.au/mpn/eaton/bkhkpnhh
https://www.x-on.com.au/mpn/eaton/bkhkpscc
https://www.x-on.com.au/mpn/eaton/bkhkpwbbhh
https://www.x-on.com.au/mpn/eaton/bkhkpwbbhh
https://www.x-on.com.au/mpn/eaton/bphhs
https://www.x-on.com.au/mpn/eaton/bphhu
https://www.x-on.com.au/mpn/littelfuse/55900008011
https://www.x-on.com.au/mpn/eaton/c1933

